
INSTRUCTION MANUAL

WWW.NEOMOUNTS.COM

NM-W360BLACK
EN	

NL	

DE	

FR 

IT	

ES	

PT	

DK	

NO	

SE	

FI	

PL	

CS	

SK	

RO	

TV wall mount

TV wandsteun

TV Wandhalterung

Support mural pour TV

Supporto TV a parete 

Soporte de pared para TV

Suporte de parede para TV

Vægbeslag TV

TV veggfeste

TV-väggfäste

TV seinäteline

Uchwyt ścienny do TV

Nástěnný držák na TV

Nástenný držiak na TV

Suport montare televizor pe perete



Install the wall plate on a wooden stud
Bevestig de muurbeugel aan een houten balk
Befestigen die Halterungsplatte auf einem Holzbalken
Installez la plaque murale sur un mur en bois ou en plaque au platre
Installare la piastra di parete su un perno in legno
Fije el soporte de pared a una viga de madera
Instale a placa do suporte de parede num poste de madeira
Zamontuj płytę ścienną do drewnianej powierzchni

Install the wall plate on a solid brick or concrete wall
Bevestig de muurbeugel aan een stevige stenen of betonnen muur
Befestigen die Halterungsplatte an einer Wand
Installez la plaque murale sur un mur de brique ou de béton
Installare la piastra di parete su un muro di mattoni o cemento
Fije el soporte de pared a una piedra sólida o muro de hormigón
Instale a placa do suporte de parede numa parede
Zamontuj płytę ścienną do ściany z cegły lub betonu

Install the adapter brackets
Bevestig de adapter steunen
Montage die Halterungsschienen
Installation des adaptateurs sur l’écran
Montare il supporto del adattatore
Instalación de brazos adaptadores
Instalação de braços adaptadores
Zainstaluj ramiona uchwytu

Install the adapter brackets
Bevestig de adapter steunen
Montage die Halterungsschienen
Installation des adaptateurs sur l’écran
Montare il supporto del adattatore
Instalación de brazos adaptadores
Instalação de braços adaptadores
Zainstaluj ramiona uchwytu

Attach the TV onto the wall plate
Hang de televisie aan de muurbeugel
Fixieren des TV an der montierten Wandplatte
Fixez le téléviseur sur la plaque murale
Appendere il TV sulla staffa di muro
Cuelgue la televisión en el soporte de pared
Colocar a TV na placa do suporte de parede
Przymocuj TV do płyty ściennej

EN
NL
DE
FR
IT
ES
PT
PL

PARTS

EN
NL
DE
FR
IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

NM-W360BLACK

Tool Pencil Drill

B

Tape measure

STEP 1

STEP 1

STEP 2

STEP 3

STEP 4

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

0-50 kg | 
0-110 lbs

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

100x100 
- 600x400 mm

2,6 cm

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Distance to wall

Gas spring

Quick-release VESA 

Pull & release brackets

Media player space

Level adjustment

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Distance to wall

Gas spring

Quick-release VESA

Pull & release brackets

Media player space

Level adjustment

Cable management

F

Ø
4 m

m
 

Ø
10 m

m
 

F

G

C D E

I

H

1

2

1

2
Push

A. (x1)

B. (x2)

C. 
M5x15 (x4)
M6x15 (x4)
M8x20 (x4)

D. 
M5x35 (x4)
M6x35 (x4)
M8x35 (x4)

E. M8x50 
(x4)

F. M6x50mm 
8.8 (x4)

G. 
Ø10xØ6x50 

(x4)

H. 
Ø13xØ8.2 
xH21 (x4)

H. 
(x8)

I. 
Ø8.2/Ø6.2
x1.2 (x4)

A

50 mm (2”)

50 mm (2”)

/ /




